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Seventh Semester B.E. Degree Examination, D.Se,2018 lJan.20l9
Operations Resea*S"ffi'

Time: 3 hrs. . - *l Max. Marks:100
Note: Answer any FIW full questions, selecting atl&SkTWO questions from each part.

PART _ A
L a. Define operation research. Write the advanta#O limitations of operation research.

- $b ;'" /" (08 Marks)
A person requires 10, 12 ari_ l2units chffidotrf n, B and C ,.rpr"g@ for his ;.ffiT
liquid product contains 5, 2, and t uni#&f1, B and C respectively p"er jar. A dry product
contains 1,2 and4 units of A, B, C"p$r C6fton. If the liquid product sells for Rs.3 per jar and

b. A person requires 10, 12 ard 12 units c*hr$hie$ls A, B and C
liquid product contains 5,2, and I uniii*"'fuf1, B and C respr

contains L.2 and 4 units of A- B- C.oer i6iton. If the liouid or

A person requires 10,12 ar,d 12 units chtiihie$ls A, B and C respe-o"6try@ for his garden. A
liquid product contains 5, 2, and I uniii*"'fuf1, B and C respectively p'er jar. A dry product

jriiton. If the liquid produet Sells for Rs.3 per jar and

, how many of each should be purchased in order to
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the dry product sells for Rs.2 per*piiftsii, how many of each-slro_r

minimize the cost and meet thg"*edh.irements. ':1:*
c. Find the maximum value ofZ%S.?r + 7xz "

the dry product sells for Rs.2 peq

minimize the cost and meet the.,rr
''7 fi-
,{'4& *'
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.., ''''xl, x2, X3 ) Q.

Find the IBFS bt idtr,t *d .h*k
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c. Solve the following tra

stone method.
Capacity

700
400
600

blem and assignment problem.
the following matrix :

Subject to the constraints '''' 
[_.d' *, * xz < 4 i

'',, ."- 3x1 + gY, < 24

,,:,ir,:,,,.,H l0x1 + 7u<35 ;-xtqrx2 > 0. (08Marks)

Solve the following LF plobbm using Simplex method :

MaxZ-3x1 +2x2+5vt
Subject to x1 + 2ryi 4 < 430 

,_-

, x1,,,'r {1, < 420 .1l,-

salesman problem :

ABCD
A
B
C
D
E

c-''f3
n.quirlr.rm 6

a. ,flrite the difference betwp.bn transportat
b. '';"S$lve the assignmqnt pfoblem representr:- r----f-------r
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PART _ B,,*;, 
1.,:,"'

5 a. There are 7 jobs each of which has to go througll.thdmAchines A and B in the order of A-B.
The processing times in the hours are given as^: 13 "

b. Use the graph
machine and a

rical method to minflmffi
also calculate the totaSela

time needed to proqes$'the followi
time to complete.

Job 1 A -.2&' €-10 D- 10 B-30 E *25 F- ls
Job 2 A_ LO::. c-30 B- 15 D-{0 F-20 E-20

,ofii{:::,,,r (12 Marks)

Job 2 ) ."'4 5 6 7

m/c A 3 1&Fq&S 6 l0 t1 9

m/c B 8 .tl B,;
*10 6 t2 I 3,,,,,,r

,I*r&rf!&

2 of2

(08 Marks)
ing jobs on the

(06 Marks)

,,= ';'+ l'

6 a. Explain the terms; 1}.t'itue of game ii) Fair g.,1m€: (04 Marks)

b. Using dominaqee iifftb'solve the pay offmatrix :

,,,,, [d' *,,,,,,,..', PlaYer B
A2o2tl)tl : : :; 'lt 4 3 I 3 2 2l*t-l: prayerAlX ir^__i.ril
U 3 2 -2 2 2)

,irii, ,:::::,. (10 Marks)\ .ur,llt,.,= - ': :r'r' (lo Marks)
c. Solve by graphical method': " \,"

*.{.*tq "

Al-3 0 6 -1 7l
: BL-l,u 5 -2 2 l)

€.'-,.re ; - fu$\l' (06 Marks)
,lP' t=== :;r'
:r,,, i..:::n::..i:... ; :! "':l:i.= .=i

a. In a bank, 20 cu$tomers on the avdgft, are served by"l^4 cashier in an hour. if the service time

8a.
b.

has exponential distribution. Wh{is the probabilil;tt}itt :

i) It.Sffi e more than lQlMffi=fo serve a custotmer?
(06 Marks),9 {.rusto..u shall be q-ee. in 4 minutes? + . ^ n ^b. Goqds'trucks arrive

( -d[u. Y

Y"'thour. It is
,ffiaiting chargeadfti?ate of Rs.

%".thour. It is possi$lQ.tSraugment the
wage rate of Rs.20 per

::j::::]i.

Defme thB iiDefure the ienns : i) Total floai''rii) Free float iii) Independent float.
A project schedule has the following characteristics :

:,..ldryi
4f .,1"/'

i) Draw an arrowdiagram representing the project
ir) Find the {otafffiat for each activity?
iir) Find the cfitibal path and the total project duration.

Ji

i*!sd+::l

u'* -"" ,,q&r:.ii::.1

,$

,rEi:i:=::i1.:!j

Job 'L'2 l-3 2-3 2-5 3-4 3-6 4-5 4-6 5-6 6-7

Duration day ".s5 15
a
J 5 8 t2 I l4 3. t4

(14 Marks)


